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Part 'A’
10x2= 20

1. Attempt any 10 questions:
(1) Represent(-16)insigned 2's complement form.
(0)  Perform subtraction using 2's complements: 11010-1101.
(i) What do you mean by memory compaction?
(W) What do you mean by cache memory?

(v) Explain indirect address mode and how the effective address is calculated in this
case.

(vi) In Reverse Polish notation, expression A*B+C*D is written as ...
(vii) What does the instruction field in the assembly language program specify?
(viii) Explain the sequence that takes place when an interrupt oceurs,

(1x) What is control word?

(x) What is locality of reference?

{xi) What is program controlled I/O?

(xti) Give two major functions of stack.

(xiii) What do you understand by subroutine call?

ixiv) What is a micro-operation?

2. Attempt any 5 questions:

(5 What is the difference between serial and parallel transmission?

Sx4=20

(i)  Differentiate between synchronous and asynchronous data transfe thod
rmethod,
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Explain the terms burst transfer and cycle stealing in DMA.

Discuss the Base Register Addressing Mode in detail.
Design 4 bit adder using Full adder.
Explain the horizontal and vertical class of microinstruction.

Discuss the features of /O processar,

viiy Discuss memary hierarchy.

PART-B
31X 20=60

Attempt any 3 questions:

(@
(b)

(a)

(b)

(a)

(b)
(a)
(b)

Discuss the Flynn classification of compuler.
Write a program by using two-addressing & one-addressing format to evaluate the

following. -
A-B+C ~ (D-E}

C+G*H
What is an associative memory? Explain with the help of a block diagram. Also
mention the situation in which associative memory can be effectively utilized.

Discuss briefly the hardwired and micro-instruction based control units. What kind of
control units will have better performance and flexibility?

With neat flowchart, explain the process of multiplication of floating point numbers
using Booth's multiplier. .
Compare and contrast RISC versus CISC,

Explain the various methods of handling multiple I/0 devices. .

Why bus arbitration is required? Explain with block diagram bus arbitration using
daisy chaining.

\Wite short notes on any two: -

(8}
W
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Virtual memory
Pipelining processing
DMA
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HAT-9
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